H1108 Facial Steamer

@Product Feature

Innovative Aluminum style appearance with leading structure design,

With stainless steel heating system, built-in UV sterilization tube,

Pull-out water cup for easy operation

Unique vapor arm with aluminum finish, with 180 degree angle adjustment

Sensor touch control, microcomputer control,3-level vapor adjustment, auto water level
detection.

Water level alarm system to avoid heating system or heating tube buring

@Function:

1)
2)
3)

4)
5)
6)

7)

Soften the dead cells on the surface skin for the next cleaning treatment.

Stretch skin pore for deep cleaning.

Permeate into the skin pore, Soften the cumulated oil dirt, blackhead, cosmetic remain and dirt, which
make the next cleansing treatment more efficient.

Help the skin pore to exclude toxin.

Soften wrinkle temporarily.

It can accelerate blood circumfluence, add water to cell, and improve the metabolism and
self-regeneration of skin cell.

Applying the proper Chinese herbal medicine during the steam treatment, it can improve the effect of
curing acnes, black spot and whiten, nourish skin.

With aromatherapy treatment, stimulating the partial nerve and nursing the physical function in
effective way.

@®Specifications and Technical Data:

Product Name Micro-Computer Fragrance herbs Facial
steamer
Item No. H1108
Function lon spray Facial Steamer
Rated AC. 100-120Vv/750W
Voltage/Power AC. 220-240V/800W
Working 50/60HZ
Frequency
Dimension 89X41X32.5CM
N.W 17KG
@Packing list:
Item Product Description QTY Item Product Description |QTY
i ﬂ. I - Herbal M

I 2 =
Host machine E@ﬁ 1 Cover : 1

Roof

(magnifying
glass bracket)

components

Belt brake
1 =

casters




Without belt
Roof 1
brake casters
17# open ;@
M10 allen
spanner 1
wrench |
[
®10 Spring @ 3 19# open q
gasket spanner
¢12 Spring @
10 flat gasket @ 3
¢ ° gasket
M10x25 Hex \

» &
cylinder head /’ - 6 @12 flat gasket N——rl
machine silk
power wire g % 1 pcs M12 Cover J

Instruction
Manual
5. Standing
@Steamer Structure Description
Spray Arm ®s Arm G
ra rm Groups:
Groups pray P
2. Host machine 1. Essential oil base
3. 3.Roof 2. Essence oil Cotton
(magnifying 3. Steam Output
glass bracket) 4. Spray Arm
components

4. column




e Host machine Description

1. Herbal Net

2. Add enough water to cover

3. LED Lamp with e e

4. Water Cup ﬁ ﬁ ?—1
5. Host Handle <=

6. Control Panel ﬁ%

7. Spray arms ring l

8. Starter g

9. Insurance header

10. Hot plate operative ring

11. Hot plate e
12. The power input socket

13. Filler 2
14. Herbal base

T e B

Host machine Description:
1.10%x20 Hex cylinder head machine silk
Aluminum pillar
M12 Cover
¢12 flat gasket
¢12 spring washer
Belt brake casters
without Belt brake casters
¢10 flat gasket
¢10 spring washer
. Bottom plate
. Roof (magnifying glass bracket)
components

Hw

TN ON =

- O




@® Assembly Instruction:

4

H

_g_.._(l._

q _._&_.._

-t

=

Step 2: install the sprayer

Step 1: install the floor and

roof components (attachment)
1.install the casters to the Standing: First,
put the casters on @12 spring washer, @12
flat gasket, then insert into the base plate
(pay attention to that the belt brake casters
installed in the front and put a @12 flat
gasket after tighten M12 cover up . While
tighten the cover up, please use 17#
open-end spanner to fix the nut at the
bottom of the floor, then tighten the cover
up with 19# open-end spanner.

2.Install aluminum pillar: fit the Aluminum
pillar to the three holds on bottom plate,
then connect with M10x20 M10x20 Hex
cylinder head machine silk, then tighten up
screws with M10 allen wrench.

3.Installthe  roof  (magnifying  glass)
components: fit the Aluminum pillar to the
three holes on bottom plate, then connect
with M10x20 M10x20 Hex cylinder head
machine silk, then tighten up screws with
M10 allen wrench.

At first you should put the host machine horizontally to the hole of the column until the column

falling down 15 mm naturally.




Sprayer panel Instruction:

|

Working window Instruction:

i

» TS
~ NORMAL “

®Usage Instruction

1. unlock instruction of Spray arm

When you take out the machine, spray arm is
locked. Now you should hold the spray arm and
pull out by your hand, rotate the spray arm until
to the horizontal position to unlock.

2.Spray arm and spray nozzle adjustment

instruction

With unique design spray arm for multi-angle
adjustment to adapt different environment.
5

A A

1. working window

time decreasing key
Adjust Energy Key
time increasing key
warming vapor start key

ozone star key

N o o bk~ w N

power

water cup working display area
warning display area

ozone working display area
energy display area

time display area




5. Add perfume essence oil

Control panel operation instruction
1\

As the follow picture 1 the Spray arm can adjust right and left 150 degrees.
As the follow picture 2 the shower nozzle can adjust 360 degrees.
Pay attention not to adjust too hard.

3.add water to the host machine:

Please lift up the cover, put water to the water cup.
Water level should not beyond the between the water scale
line (pictured at right)

You should unplug the essential oil base, add perfume
essence oil with dropper into the cotton (one to two drops is
OK). (Picture at right)

You can change cotton with a tweezer.

6. Install and remove water cup:

Please turn down the power of the host machine before removing water cup.
After the water cooling, Pull hot plate operative ring by one hand, and hold the water cup

handle by other hand, then pull out the
water cup in horizontal level

Please turn down the power of the host
machine before assembling the water cup,
push down the hot plate operative ring by
one hand, and hold the water cup handle by
other hand, then push the water cup back to
the hot machine.

Plug the power plug.



|
2 .Press the button O to turn on the host machine, the screen show the welcome menu,

enter the language selection screen, then press ¥ or button to choose the

language.
The host machine will enter the standby mode
Default time display window show “15”minutes

Energy display window show EEEEmaximum level
“Ozone “display area show “03”symbol dark grey

The symbol of Water cup “®==V"is fixed
3. Hot vapor function:

)
Press WARMING/VAPOR to turn on the hot vapor function, the display screen

show the hot vapor working status” * = *”, the hot machine enter the hot
vapor working status; in about 6 minutes, the steamer will come out

Temperature reservation function

)
Press WARMING/VAPOR to turn on the temperature reservation function, the
display screen show the temperature reservation function working status”

=
", the hot machine enter the temperature reservation function working

status
4.Time adjustment

Press “or to adjust the time.
When hot vapor turn on, the time adjustment range is 1-30 minutes, the default time is 15

minutes( )

When temperature reservation function® = “turn on , the time adjustment range is 1-90
minutes, the default time is 15 minutes

5.Energy adjustment
choose the energy adjustment button to adjust the energy. There are three
choice for vapor volume, such as high ,medium and low

When the energy indication on the energy m is highest
When the energy indication off the energy “ is lowest

Please choose the highest energy before the vapor come out ,then adjustment the energy to
suitable level.



6. Turn on the Ozone function
Press the to turn on the Ozone function, the Ozone symbol of ozone indication

area are blue, when the ozone working.

There are ozone smell with the vapor
7. Water level alarm system

The water level detection system work during the hot vapor’ff" orﬂ temperature
reservation system on, when the water stay in the normal status ,the host machine heat
continuously ;when the water level beyond the lowest water level, the host machine will turn off

the heating. And the symbol of the display window é.will twinkle all the time

And the buzzer sounds the alarm with “Dee Dee” and lock all the button except the * @ ‘ button until the

water level back to normal status and stop the buzzer and release button to restart the
“WARMING/VAPOR?” function.

@Attention:

1. Before turn on the power of the host machine, please confirm the water cup was screwed down, the
water level was between the highest and lowest water level mark, and the herbal medicine cover was
covered well in the water hole.

2. Ifthere’s needed to add essential oil under working condition, pleas all it after pause the mist spray.

3. Ifthere’s needed to add herbal medicine package during spray, it has to stop mist spray for one minute to
open herbal cover. Please open the herbal medicine cover one minute after stop the mist spray.

4. It must be clean the cotton pallet in the essential oil base and the herbal medicine package in the herbal
medicine net after stop using aromatherapy or herbal spray everyday.

5. It has to wait the mist came out from the spray hole steady and well-proportionally before facial spray.

6. The spray hole is 40cm away from customer’s face and spray steam should be from customer’s chin to
whole face proportionally to avoid scald the customer’s face due to hot spray steam.

7. Ozone has sterilization effect, but it also will harm skin and destroy nutrients of herbal, so it's important to
select suitable time for different skin type when using.

8. It's not allowed to take water cup apart when just finish using spray otherwise will cause scald. Please
wait water cup cold then take it apart.

9. It's necessary to avoid over adding water, otherwise it's not only make bad effect to the host machine, but
also may cause the problem of leakage of electricity

10. If there’re problems of water leakage and gas leakage happen underneath the host machine or at the
herbal medicine cover, remember cut off the power of host machine first and then check whether the
water cup or herbal medicine cover well assembled. If the problems still don’t be solved, please contact
local agency for further
Solution:

11. It should have good ground connection for the power plug of host machine.

12. When item H1102 under continuous working mode, if water level under lowest mark without adding water,
the temperature protection system will react right away to cut off the power temporarily. At this time
should add amount of water in time, otherwise temperature protection system would cut power again and



again until burnout the heating system. The host machine will return to normal working condition after
adding water for 1-3 minutes.

@®Warning!

1. It's forbid to put oily material into water cup or herbal net; it may cause the problem of water spray.

It's not allowed spray from the above of the face by the steam hole, otherwise may causing scald.

It's not allowed to take the herbal cover and water cup apart under machine is spray.

It's not allowed to put this machine in the over humidity environment to work, for example: bath room etc.
It's not allowed working under projective sunshine, otherwise will cause many kind of unsteady

o K~ wbd

conditions.

6. If there’s any exceptional problem, please contact the agency to let professional maintainer to repair
instead of opening the host machine cover to repair by you.

7. If power cord is destroyed, it's better to choose the accessories from the original factory. It's not allowed
to repair by un-professional personnel; you should go to appointed repair agency to change.

@®Maintenance
-- Clean heating groups one time every week. (Tips: Mix some acetic acid or citric acid with water to the
water cup for washing, after heating for one minute then using clean water to wash heating tube.)
-- Pay attention to the water level of the water cup frequently.
-- Cleaning the machine after using, avoid accumulation by beauty leftover.



